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QUESTION 1

An employee starts employment with her company in France next month. She was employed by the enterprise in the
United States for several years, but resigned two years ago. 

Which statement is correct about the person number for the employee? 

A. The employee\\'s new person number will be her previous number suffixed by -1. 

B. The employee gets a new person number for her employment in France if the legal employer sequence is used for
person number. 

C. The employee continues with her old person number if global sequence is used for person number. 

D. The employee has a person record with the enterprise so she will continue with the same person number. 

Correct Answer: D 

 

QUESTION 2

There are two legal employers identified for your current application implementation. The legal employers have inherited
the number-generation method set at enterprise level. However, there is a need to override the number-generation
method at the legal employer level. 

Which two options are correct? (Choose two.) 

A. No Employee or Contingent Worker work relationships should exist for that legal employer. 

B. Manual worker-number generation for a legal employer can be selected at any time. 

C. The employment model selected should be one-tier. 

D. There are no conditions. The worker generation method can be changed to automatic at any time. 

E. The employment model selected should be three-tier. 

Correct Answer: AB 

 

QUESTION 3

You hired a female employee on January 1, 2015. This employee got married on June 12, 2015. You received a request
from the employee on July 11, 2015. to change her last name from the date of her marriage. You changed the last name
of the employee as requested on the same day. 

What effective start date for this new employee is displayed by the system as of August 15, 2015? 

A. June 12, 2015 

B. January 1, 2015 

C. July 11, 2015 
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D. August 15, 2015 

Correct Answer: A 

 

QUESTION 4

An IT company\\'s consulting department based in Bangalore goes for two team outing events every year. However, the
support department, also based in Bangalore, goes for four team outing events every year. All employees in these
departments go for the respective team outing events. 

How should you define the calendar years? 

A. Use Line Manager Hierarchy as the Hierarchy type for the calendar event. 

B. Use Organization Hierarchy as the Hierarchy type for the calendar event. 

C. Use Absence Approval Hierarchy as the Hierarchy type for the calendar event. 

D. Use Geographic Hierarchy as the Hierarchy type for the calendar event. 

E. Use Project Manager Hierarchy as the Hierarchy type for the calendar event. 

Correct Answer: B 

 

QUESTION 5

You are required to set geography validation for country-specific address style. You have configured the application
correctly, but users are still entering addresses in the wrong address format. What can be done to change this? 

A. Create a new geography validation. 

B. Educate users to use the country-specific address format only. 

C. Effective End Date for geography validation is end of time. 

D. Set the geography validation level to Error instead of No Validation. 

Correct Answer: D 
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